
Orden de Operaciones (E)
Realice las operaciones en el orden correcto.

1. 64,76− (48,95−4,59)

2. 15,69× (53,05+53,95)

3. 22,68+95,84−31,41

4. 69,74+7,91+77,44

5. 2,64+46,3−21,21

6. 45,6− (93,2−80,35)

7. 38,3+97,69−65,92

8. 43,12+92,63−55,71

9. 76,6+14,13−37,77

10. 95,5− (81,85−48,7)
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Orden de Operaciones (E) Answers
Realice las operaciones en el orden correcto.

1. 64,76− (48,95−4,59)
= 20,4

2. 15,69× (53,05+53,95)
= 1.678,83

3. 22,68+95,84−31,41
= 87,11

4. 69,74+7,91+77,44
= .155,09

5. 2,64+46,3−21,21
= 27,73

6. 45,6− (93,2−80,35)
= 32,75

7. 38,3+97,69−65,92
= 70,07

8. 43,12+92,63−55,71
= 80,04

9. 76,6+14,13−37,77
= 52,96

10. 95,5− (81,85−48,7)
= 62,35
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